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i 0.0065

/ / 0.0039
00013 E

-0.0013

\ -0.0039
: : -0.0065

0.35 0.30 0.25 0.20 0.15 0.10 0.05 0.00
v, [m/s] =\ _max=0.13 [m/s]
) . =\ _max=0.22 [m/s]
19 Hagen-Poiseuille V_max=0.33 [m/s]
19 Vmax 0.13,0.22,0.33 18
Vmax

P Hg

A

g = 9.80665 [m/s2]

2.78x 102 [m]

¢ =1.50[m]

P Hg

No. 3 3

tu[ 1 |py[kg/m7]|p y [kg/m’]
T 18.2 998.498 13550.25
2 18.2 998.498 13550.25
3 18.2 998.498 13550.25
4 18.2 998.498 13550.25
5 18.2 998.498 13550.25
6 18.2 998.498 13550.25
7 18.9 998.341 13548.53
8 186 998.408 13549.27
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(62)

Qo g Dot |2 Par o 0.6632 Dori=1.60x 102[m] orifice
4 P
orif (63) Hy=H,—H, ,
(63)C> Porit :(pHg _pw)g HHg
Q
v =2 [mis] A_ D’ [m2]
A 4
Q v
Q Y
No orifice V' 2 Porie/P w
| Hilem] | Hp [em] | Hyg [Mm]] o [Pa] [m/s] Q [m*/s] V [m/s]
1 | 74820 | 30.220 | 0.44600 | 54898 10.486 13983 x 10| 2.3036
2 | 64300 | 42.835 | 0.21465 | 26421 7.2748 9.7005 x 10| 1.5981
3 59.185 | 49.095 | 0.10090 | 12420 4.9877 6.6508 x 10| 1.0957
4 56.765 | 52.000 | 0.04765 | 5865.3 3.4276 45705 x 10| 0.75297
5 55.475 | 53.605 | 0.01870 | 23018 2.1472 28632 x 10| 0.47170
6 | 55120 | 54.100 | 0.01020 | 12555 1.5858 21146 x 10| 0.34838
Q
Q
0- _ M/Tle—Mz [ms]
Pu P
Q v
No |« [s] | Mi[g] [ M2]g] M [kg] Q [m/s] V [m/s]
7 29.93 320 4700 4380 | 1.4658 x 10| 0.24150
8 50.14 320 5415 5095 | 10178 x 107*| 0.16768
(61)
pP=p.9 H,=p,9H,—H,) [Pa]
Y Re A
1.792x10°°
Vo = > [m2/s]
1+t,/28.05+t; /5459
P
(20) 2= 2
Vi (¢/D)-(pV°12)
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Reynolds

No. H, [em] | Hy [em] [ H,, [m] [Pa]| v, [m*/s] Re A
1 | 400( )| 79.030| 39.185] 039845 | 39016 | 1.0482 x 10° | 61094 0.027293
2 200 80.890 | 61.020 [ 019870 | 19457 | 1.0482 x 10° | 42383 0.028280
3 100 80.700 | 70670 [ 010030 | 98213 | 1.0482 x 10 | 29059 0.030368
4 50 80.550 75.475 | 0.05075 496.94 | 1.0482 x 1()‘6 19969 0.032537
5 20 80.275 | 78.185 | 002090 | 204.65| 1.0482 x 10° | 12510 0.034144
6 10 80.225 | 79.075 | 001150 | 11261 | 1.0482 x 10° | 9239.1 0.034443
7 5 80.190 79.600 | 0.00590 57.763 1 1.0303 x 10‘6 6515.9 0.036774
8 2 80.170 | 79.865 [ 000305 | 29.863 | 1.0380 x 10 | 4491.0 0.039433
D =1.028x107?[m] ¢ =2.00[m]
ta Pa P w
P a p/p=RT
-
po/po :ﬂ =3 :poﬂ-—o [kg/m3]
pl/pl RT, Po Tl
1+t,/273.15)*° 101325
v, =13.33x107° x ( a/ ) . [m2/s]
1+t, /380 .
pa V a
No. 3 2
tl 1]p,[kg/m’][ VvV ,[mY/s]
1 225 1.1872 1.543 x 107°
2 225 1.1872 1.543 x 10°°
3 225 1.1872 1.543 x 10°°
4 225 1.1872 1.543 x 107°
5 225 1.1872 1.543 x 10°°
6 225 1.1872 1.543 x 10°°
7 225 1.1872 1543 x 107
8 225 1.1872 1.543 x 10°°
9 225 1.1872 1543 x 10°°
10 225 1.1872 1.543 x 10°°
225 1.1872 1543 x 10°°
orifice P.ir =1.790¢,; [Pa]
orifice Reynolds Re. :me Do - Dot |2APyi [m/s]
orif Va Va pa

D, =6.00x10°[m] orifice
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orifice a = 0.1505(log,, Re, )* —1.329(log,, Re, ) + 3.603
ﬂDorif porif
= m3/s
Q=«a ) ) [m3/s]
2
V= g[m/s] A= 0 [m2]
A 4
Q \Y/
orifice
No. £ ot Porit [PAl[V (2 Porit/P 2) Oég::: l0g;oR€qrit orn‘l(;e 0 [m3 /] V [m/s]
1 20 22.0 39.380 8.1449 3166.4 | 3.5006 0.79497 | 1.8307 x 107 2.2057
2 30 310 55.490 9.6684 3758.6 | 35750 077530 | 21194 x 107 2.5535
3 50 50.5 90.395 12.340 47973 | 3.6810 0.75019 | 26175 x 107 3.1536
4 75 755 135.15 15.089 5865.7 | 3.7683 0.73204 | 31230 x 107 3.7627
5 120 118.0 211.22 18.863 7333.1 | 3.8653 0.71457 | 38111 x 10 45917
6 190 188.0 336.52 23.810 9256.1 | 3.9664 0.69937 | 4.7081 x 107 5.6725
7 290 2905 520.00 29597 11506 | 4.0609 0.68794 | 57569 x 107 6.9361
8 450 4495 804.61 36.816 14312 | 4.1557 0.67918 | 7.0700 x 107 8.5181
9 700 7005 1253.9 45,960 17867 | 4.2521 0.67305 | 8.7462 x 107 10.538
10 f100( 1086.0 | 19439 57.225 22247 | 43473 0.66974 | 10.836 x 10 13.056
57.0 102.03 13.110 5096.7 | 3.7073 0.74448 | 27597 x 107 3.3249
P =0.627¢,, [Pa]
Reynolds Re= v-D
Va
. P
(1/D)-(pV?12)
Reynolds
No. € loss p [Pa] Re A
1 39.0 24.453 1469.2 0.043520
2 45.0 28.215 1700.8 0.037467
3 57.8 36.241 21005 0.031553
4 112.0 70.224 2506.2 0.042949
5 169.0 105.96 3058.4 0.043517
6 248.0 155.50 3778.2 0.041844
7 359.0 225.09 4619.9 0.040512
8 514.0 322.28 5673.6 0.038459
9 748.0 469.00 7018.8 0.036571
10 | 1077.0 | 675.28 8696.2 0.034302
78.0 48.906 2214.6 0.038305
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(21) Hagen-Poiseuille A= ﬁ 21
Re
(55) Prandtl-Kalman
1
ﬁ = 2|OglO (Re\/z)_ 08
1
@ o log,, Re+l0g,, V4 —0.4
1
< log,, Re=———log,, V4 +0.4
glO 2\/2 glO
armelios 1[50
.. Re=10%'* =—10'%4 69
Ja
(57) Blasius A =0.3164Re*® 57
(58) Colebrook
1 g [ 25L, 1 K
N Yo ReJi 371D
1
T 251 1 k
o 12" = &
ReJ1 371D
1
k -5 251
& —=37110%7% - == 70
D Rev4i
(70) k/D
(70) k/D
/D
No. A VA k/D
1 0.027293 0.16520 | 0.0025674
2 0.028280 0.16817 | 0.0026391
3 0.030368 0.17426 | 0.0031749
4 0.032537 0.18038 | 0.0036875
5 0.034144 0.18478 | 0.0032738
6 0.034443 0.18559 | 0.0020724
7 0.036774 0.19176 | 0.0017100
8 0.039433 0.19858 | 0.00081618
0.0024926
k/D
% =0.0024926 71
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No.10

Blasius

k/D

k/D

10

k/D

k/D

No.7

No. A

VA

k/D

0.040512

0.20128

0.0021541

0.19611

0.0020970

7
8 0.038459
9 0.036571

0.19124

0.0020738

10 0.034302

0.18521

0.0016262

0.0019878

k/D

K =0.0019878
D

(70)

1
(70) < %:3.71{10 2k _

251

G

Re

1

[10_W -

Re- A

251
Re A
1k
3.71D

|

Hagen-Poiseuille

Colebrook

20
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Hagen-Poiseuille Prandtl-Kalman Blasius
Colebrook
0.100 .
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Prandtl-Karman
——Hagen-Poisuille
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. "
» e *
< W . T
~—
0.010
1000 10000 100000
Re
21 Re-A
21 Hagen-Poiseuille Prandtl-Kalman Blasius
Hagen-Poiseuille
Prandtl-Kalman Blasius 100000
Blasius
3000 4500
Prandtl-Kalman Blasius
11 p.37 4500
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20000 A 25
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A
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\\ Colebrook
Hagen-Poisuille
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<
) :64Rex
0.010
1000 10000 100000
Re
22 Re-A
0.100
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Colebrook
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[ SRS .

< < . .
/Y A =—2Iog10(2.51/Re/\/ A +k/D/3.71)
0.010
1000 10000 100000
Re
23 Re-A
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11

Reynolds Prandtl-Kalman Blasius Colebrookn
Re A e A th-pk [%] A s [%] A th-c [%]
3058.4 0.043517 0.043273 | 0.56454 0.042546 [ 2.2815 0.045030 | 3.3606
3778.2 0.041844 0.040597 | 3.0699 0.040357 | 3.6850 0.042511 [ 1.5688
4619.9 0.040512 0.038265| 5.8722 0.038378 | 5.5625 0.040343 [ 0.42045
5673.6 0.038459 0.036076 | 6.6076 0.036456 | 5.4948 0.038339 | 0.31445
7018.8 0.036571 0.033992 | 7.5873 0.034568 | 5.7954 0.036468 | 0.28248
8696.2 0.034302 0.032063 | 6.9821 0.032765| 4.6918 0.034776 | 1.3643
12
Reynolds Prandtl-Kalman Blasius Colebrookn
Re A ex A th-pK [%] A [%] A thc [%]
61094 0.027293 0.019990 | 36.531 0.020125] 35.615 0.025981 [ 5.0483
42383 0.028280 0.021686 | 30.403 0.022051 | 28.244 0.026921 [ 5.0449
29059 0.030368 0.023664 [ 28.330 0.024234| 25314 0.028177 | 7.7751
19969 0.032537 0.025898 | 25.637 0.026616 | 22.246 0.029765 [ 9.3140
12510 0.034144 0.029132| 17.204 0.029917( 14.127 0.032303 [ 5.6992
9239.1 0.034443 0.031546 | 9.1826 0.032272| 6.7272 0.034331 [ 0.32733
6515.9 0.036774 0.034700 | 5.9762 0.035216 | 4.4227 0.037099 [ 0.87732
4491.0 0.039433 0.038582 | 2.2062 0.038650 | 2.0253 0.040635 | 2.9582
Ao — A
[ ]: M [%]
ﬂ’th
k/D
24 p.38 Moody
Moody
Kk
k= D D =0.0024926x 27.8 = 0.0693 [mm]
k
k= D D =0.0019878x10.28 = 0.02043 [mm]
24
0.18 [mm]
0.05 [mm)]
2.5 24
Colebrook Moody 25 p.38

37



0.0 -, ™ | | 1

[EN v

.01
.08
0. 006

il

0, e

ikt
(. 0O B

(1, D81
0, I8

iEh L b

¥ 0.0z

A1, [ ]
0. s
1 AN O

LN LLLTE

10, CHN) 02

U IRl
INLCLIECE] m
0, {1 G 1 i o

i z | 6 S1F 2 4 6 BUP
TR Cmm)

24 k/D

0.100

0.010

|

L 2
]
~——— Colebrook

——— Colebrook
. N§\ ——k=0.18 [mm]
~BL ——k=0.05 [mm]

\\‘\“i:——- k/D = 0.0024926
k/D = 0.0019878

1000

10830 100000
25 k/D Coolebrook

38




20

Re<104
26
u-l e e e e = ———
g [ |———
w -.__‘-_-"ﬂ—"\-o-\_n_,-._‘u_,.-
. e PR
# By
26
Vv, =05V

p. (16)

13,14 (40) (43)

39

C, =1/4

104



Reynolds
73

2300 2300
2214.6
2300 - 2214.§

=39 [%]
2214.6

e (Rl
T T

'Ii

=

3

1 1 i
04 0,1z 0,21 0,28 035
Ll T 100

BEE EEeq eI RETIROLNEDES
_ [FasavT—aE b 5 EEE)

Prandtl-Kalman 105
106 Blasius
Blasius 104
Re 104 Prandtl-Kalman
Blasius Colebrook
() 2002
p.70 82
() 2002
p.58 60 p.87 91
1994 p.158 161
1980 p.176 202
1990 p.64 65 p.102 103

40



